
First Fence Ltd | Kiln Way, Woodville, Derbyshire, DE11 8EA
Tel. 01283 512 111 | Fax. 01283 480 522 | www.firstfence.co.uk | sales@firstfence.co.uk

Railing Kits
All fixings are supplied with First Fence Panel products
as standard. The breakdowns for each product are 
supplied below.

1.0m & 1.2m Kits 

1x Panel

1x  Post [50x50mm]

4x Cleats

4x M10 x 30 Cup Squ. Bolts
2x M10 x 70 Cup Squ. Bolts

6x M10 Shear Nuts

1.5m Kits 

1x Panel

1x Post  [50x50mm]

4x Cleats

5x M10 x 30 Cup Squ. Bolts
2x M10 x 70 Cup Squ. Bolts

7x M10 Shear Nuts

1x Support Leg

1.8, 2.0 & 2.1m Kits 

1x Panel

1x Post  [70x70mm]

4x Cleats

6x M10 x 30 Cup Squ. Bolts
2x M10 x 90 Cup Squ. Bolts

8x M10 Shear Nuts

2x Support Legs

2.4m Kits 

1x Panel

1x Post  [70x70mm]

4x Cleats

6x M10 x 30 Cup Squ. Bolts
2x M10 x 110 Cup Squ. Bolts

8x M10 Shear Nuts

2x Support Legs

Bow Top RailingsVertical Bar Railings


